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|}чртш[р![р
30 1 9733 1 'ъ*!1'> с2 Бъштл 900 4500 6

30234300 0\тпт{тшптш\ ь1 Бшттп 500 40000 80

1/\тшт|тшптш\1' ьр*р 0[ Бтцъп оЁ 2000 80

30 1 92 160 9ъу}'> с/- [тш;тл 2оо 20000 100

30192930 91'я}'>-чр}'> с1 Бтпшт 25о 1 0000 4о

30192100 $Ётл}!-т с/- Бтштп 50 1 0000 2о0
392632о0 $ртпшБ1:3 тп\*з ['ь ч}'рр с2 Бтцтп 600 24ооо 4о

22в10000 @црЁ \тпт| штпт{тшР1пРг|Рь

чртш!.9тшт[тп:г:3 т'ш!1:[р с/-

Бтптп

1 000 30000 30

30197220 |1т|ртш\ 04 Бтлтп 100 5000 50

30197000 |}[г1т|тш\ с/- Бштл 50 1 000 2о

30197233 @г1ртпчтп1:тш\ рЁрт] (! /^ Бтштп 7о з5000 500

22852о01 @г1рштчтп1тш:\ \ п6чш:т[пт] (, /. Бц:гп 7о 7000 100

30192121 +р}'> с2 [цттп 100 1 00000 1 000

30192130 1}тштп}:шт ь/^ Бтштп 'ц 7000 300
30119212з 51пт{тпштпЁ,р с/ ш:пьф 300 3000 10

301927\0 |}пш}т!& с/- Бц:ш: 150 225о0 150

24911200 0пш}:1-т& |.{пгр}ттш с[ }:тшш; 1з0 6500 50

30192720 96тш1:2}:1 сА };.тптп 150 1 5000 100

30192350 |"\}'> цр.т[Бр. 6тпчтпт{Б1: ясц2 }:тпшт 2о 1 000 50
30193000 1/[цтш!}: }:тпт{тшртш6пт с2 }ттшш: 3500 35000 10

39292110 9ртпш:тп|шшшчь :ь:}': с/- }:тпъп 25о 5000 2о
3019591 1 $ртш:.птп}шшшч} т[ш:р\Бр с/- Бтптг: 2оо 1 0000 д^

30197231 5*л с/. тппгф 900 9000 10

з924|20о $\ртштп с/' [тптп 300 9000 30
39292510 €ц:|-тп1-: ь/- Бтптп 100 5000 50



з0197з22 \*р}') 0/- Бтштл 1 000 40000 4о
301971 1 ] ч*р1':[' тшт[ртп9!пт1 т1Бтптшц ф 80 1 2000 150

30197112 ч*г}':1, тшт[ртп9[пг1 т{Ётптп1 т1ББ о/. тппгф 100 5000 50
301.+ 1000 :*:ф: т{ЁрЁ1:тш ь/- Бтштл 2000 30000 !!

30192133 шр1': с2 Бтцтл 7о 7000 100
302346 1 0 $1Ё2 Б}2пт1пгр3пг[ ьА Бтштп 5000 30000 6

з019942о 9ч ;пь[ рьрр1'\ ь2пгт1[[р}: с/- Бтцтп 2оо 1 0000 50

з01927 4о @пгг1р чпь!тш!пр с/- Бтцтп 1 800 1 8000 10
301 995 | 0 {)тпт|тпртпрп[г[Р (,/ Бтптп 20о 4000 2о
392633 1 0 Фртш9пг39 01 1т:.птп 1 000 25000 25
37в2230о 9ш:ф6 сА штпгф 2оо 1 2000 20
3о197233 (1ртшчш:\тшр с/- Бтцш; 60 39000 500
22в5 1 000 |1ртшчтш\ш:р фтп1 1Брпт{ с2 }тц:тп 500 25000 50
22в5 1 000 11ртшчтш \тпр ч1тшшъп}:\ Б (, /- Бц:тп 250 50000 2оо
30199231 0ртпр (15

(!А Бтштп о(,] 12оо0 2о0
з0199232 ФР*р ц4,ц6 ь/- Бшттл 60 9000 150

2232|0о0 [-)пгрр б!!ц1ш! шп!}: рш9[:!!Бр с/- Бтптл 500 50000 100

223200о0 2ртпт]}ртптппт{ш -2 [тцъп 500 25000 50
3о192210 !пфт{ьр. [:!р1-тш\ч2. 6ъшчтпт{11-т

г|Ё6,фпрр с2
Бтштп

100 20000 2оо
30193700 |}г1ртш4тпртш\

ь/. Бтптп 4000 40000 10
30192000 т1 [рчтпт[[[тп р[ррБрпт] (, /^ тппьф 9500 475о0 5
35в21000 '}Р'2 с/- Бц:тп 4000 48000 12
30199500 @т1ртшчтш[ш:\ п[ч}штпр (, /- }ттцтл 650 32500 50
30 1 9593 1 9ртптпшт}шшшч (, /- Бтштп 20000 200000 10
30197635

^-4
ь/- тппгф 2з00 1 00000 500

30197646 А-3 с2 тппъф 4000 40000 10
3о19432о |Фпьг1р 100чр с/- тппгф 4 з20000 4
30192000 1131 чртлш. тпчрш:!р1.тБ,р дгш2 Бтштл 1 00000 50
39224з30 1пг31 ггц2 Бтштп в00 32000 4о
39224з31 1пь31т1[тпш:г13тп 2000 20000 10
39в31240 цч*\}' т1тпррБрг ББг1пъ\ дсц2 Бц:тп 600 1 2000 20
39224зо0 (1г1ртшр}:тш\ всц2 [тштп 500 1 0000 2о
39в3в000 {1г1ртпр}:тп\ тпт]ьрт] дсц2 [тптп 2000 20000 10
392243з1 {11ртшт1тш[ т{Ё, тпш:ц тл ггш2 Бш-ттл 1 500 9000 п
3922434о 11щш:т[ш:[ ч 1тшштпш штштш3 Б всц2 }ттцш; 500 5000 10
39525 1 00 Фп2пг 2пр рсц2 Бц:тп 500 25000 50



39в35000 2шттптш\.{*РР. ф*]* Рсц; Бц:тп 1400 35000 25

39в312вз 2тптл:тш\ т{штрр. 2пр дсц2 Бтлтл 600 30000 50

3922400о 2ш:тптш\ 
'{*РР. }шпчтп[тш\ рсц2 Бтпъп 1 500 1 5000 10

39в1 1300 2пш:тшчБр6[1 дсц2 Бтштл 800 4000 5

39в00000 1}тпррпг1 !3п:рБ,р всц: [тцш; 12оо ] 8000 15

39в12300 Фтш;1Ё91-тпг1 1:3пьрБр рсц2 Бтшт_г; 1200 6000 д

з9вз1242 [т{ш:9пт1 [1п:рЁр дсц2 [тпъп 300 1 5000 50

39в 1 3000 $тшррпц ф":}' дсц2 Бтцтп 300 1 5000 50

з9в31245 Ф6тцп 1тЁцпь\ дгц2 Бтштп 400 1 0000 25

1в31в200 [штш1тшр!Б,р Рсц2 Бтптл 2000 1 00000 50

395 1 3200 |},1:&Бппс}:\ дгц2 }:тцтп 2о0 6000 30
395 1 4500 1-}рр}:1[Бр ргц2 Бтштп 500 1 0000 2о

1 в1 41 000 $Бшт}:!Ё &Ёп!п9!Ёр Ргц; Бц:тп 400 1 2000 5|,

39в36000 ц*]ь: дсц2 Бтцтп 900 72о00 80
31214200 |{1-т2тшъп}:2 ъьрр}:ъ дсш2 [шттп 600 1 2000 2о
316в4100 '1тшрг1тш\ дсц; Бтлтл 600 1 5000 25

31521000 1-тшт[ч 36- 1.20|[ дсц2 Бтцъп 500 50000 100

31521001 1-тшт|ч 36 0.б0{ рсц2 Бтцш; 400 1 0000 25

31531210 [тпт|ч 100 дсц2 Бтптл 150 1 5000 100
31531300 |пгцтштппг 2*36 дсц2 Бтцтл 5600 28000 6

3 165 1 000 1} [\пгш}т1 6тшщ тшт] [1: дсц2 Бтпш: 150 3000 2о
31224100 },Р'9 дсц2 Бтшъп 25о 2500 10
301681710 4тпЁ, г1тш1-т} ш:пгф тпт{тппт{тптп}: рсц2 Бтлтп 4500 4500 1

316в1620 11т{тппт[тптп тш!2 тшшт }т2 6 3 11 дсц2 Бтлтл 2500 25000 10

316в1300 0}шЁт{тш т|[\ тпЁг1тш1:}: всц2 Бтштп 1 100 33000 30
44322200

44322220

443222з0

2тшг1прцтп1тпр2-4 Ргц2 1| 350 1 0500 30

2тпчпрг1ш:1тшр2-2.5 дсц2 1' 300 1 5000 50

2ъшчпр4шт1тпр4*6 рсц2 { 45о 30000 7о
316в1620 бптпфтпч штт|тппт[тштп дсц2, Бтлтл 20000 20000 1

441163о00 [Бтптпт13 тп }шпц пт] тш\ дгц2 }ттпшт 4000 80000 2о
32550000 2Ёп'тп}шпш[Ёр дсц2 Бтпш;' 1 2000 60000 д

1481 1300 9штрп1 ш\штт]тшптп11 дсц2 Бтштп 1200 '12000 10

44311170

44163000

44163000

44163000

|1Б\тпрпц0.3 ггц2 ьппгф 5000 1 0000 2

&\пг! }шпцпт]тп\ 45шт| дсц; Бтптп 800 в000 10

&\пг[ |шпцпт|тп\ 60шт{ всц2 Бт.птп 1 100 5500 Б

&\пъ[ }шпг1пт|тп\ 90шт{ гсц2 }:тшш: 1 300 6500 5
44417110 0пртп\ дсц2 Бтптп 3500 35000 10
4441|70о 9пьчтпртп1:тп\п|тр} гш>пчь

т{ь}ш'\пг1р[' ,1}'*з. дсц2
[ц:тп

6000 30000 с



4441|7оо 9птчтпртш[тп\п!р}: Рш:пчь
т1Б|ш.тлтш\}' .[['*э. Рсц2

}:тцшт

6000 30000 д

4416320о

4416431о

1 9733000

44512940

44512940

|} Ё, тлтпг1тпч 1ш:шъп[ тш[9птт1 дсц2 }:тштл 2000 8000 4
ьпг1пт{тш\}: ртш1:тпф 1 Бтпт{ш:р} дсц2 };.цттл 4000 4000 1

ьфпчтш\ф Рсц2 штпьф 5000 5000 1

.{Б9тш[ф пг[ \ц пг2}: }:тшт|тпрш:6пг Ёсц2 ьппгф 2000 2000 1

!ш:пътлш:\тшБтп!}т Бтшт]штрш:6пт Рсц2 гппгф 2000 2000 1

42113172 0Ётптш1тпшт1п9 :Бцр[р рсц2 }ттцтл 2оо 2000 10
445112210 шьцт{}т2 т1[6,фпрр дсц2 }тцттп 2000 8000 4
445127о0

44512910

44512920

44521210

бптш[\;пъ! |шш:ртпп9 дсц; Бтцшт 500 1 000 о

+тш3ф\п[ 6,8,10 дгц2 Бш;тл 500 5000 10
!тлпгтлтп\тшБтп [[: !:тцштпц\тш дсц2 Бц:тп 4о 4000 10
бфпцп!Ёр}: рп!тш\[Бр Ёсц2 [тптл 3000 1 5000 5

44522400 1пшт! фтп\ш:![[р[: т{тшшБр вгц2 Бтцш: 120о 12о00 10
44522400 }пцт[ фшт\тш1-т гсц2 Бтштл 5000 25000

^4453|52о

44531510

44\92610

1тппъшттп\1-тБр дгц2 тппт-ф | зооо 3000 1

1тппьтптш\!Бр }:!р!:тш6тп\пц дсц2 ьппгф 3000 ! зооо 1

шьь | гсш: \ч 1 000 1 8000 18
31224в|0 |ьр\тшртп9т|тп! цпр дсц2' Бтптл 25оо 1 5000

^
31500000 [тпт1ч чРп3 Б\тппр}: }ттшт[ш:р рсц2 Бтшшт 1 00000 1 00000
19434000 п!р!:тш\ч2пг[, чтп\ф рьт всц2 Бтцтп 400 4000 10
445]12910 зч: ф\"ь}т }:тпт|тпртшБпт дсц2 т-ппгф 6000 6000 1

24910000 1}пш[:1-т& [-г{п:1ш}тп73 \ ч дсц2 }:штп 3000 1 5000 д

3 1532500 0тлтшртпЁ,р Рсц2 Бтптл 100 2000 2о
4416з1о0 |шпг1пт{тш\3/4 дсц2' { 300 3000 10
446211о0 9Ёппг9т[тп[ т1тшртп\п9 Ёсц2 Бтцш; 12оо 60000 50
31681300 Ёг.ш|шБт|тш 2шЁ1тш!}: всц2 Бтптл 12оо 1 2000 10
42 1 30000 9р|т фтш\тшъ ггц2 }:тштп 3000 1 5000 А

44514200 9пр6]тр[Бр[ т1тшш|,р дсц2 }:тшъп 2000 20000 10
\Б[9тцг1тш:}'1, тп:г ш:[Бр. \пгрБ,р ргц2 };.тшшт 1 55000 50

30000000 2тцт[. т[Б, р.' штшрртшт{пр. 1-т [3 пърБр Рсц2' цРш{ 500000 50
302 1 3300 2,тшт|тш\тпрч}:2 ьА }:цтшт 250000 2750000 11
30213100 |пп:ррпър ('{ };тпъп 250000 250000 1

30121 100 Р ш: чт{штф пь1-т\9}тп1-тш:[ ш1шРР (, /- Бтптп 1 00000 500000 Ё

зо2392з0 Ётц чт[тш 91-тпт| ш1цРР1цт{прпгт[ (, /- Бтцтл 700000 700000 1

30232 1 1 0 5ч}': (, /- }ттпшт 90000 1 80000 2
30232130

30231300

5ч}': чпъ1-ттшт{пр (!А };'тпъп '100000
1 00000 1

|}п1-т}тштпр с2 }:тптгт 70000 70000 1

3в652100 !рп3Б\тппр ь1 Бцтъп 300000 600000 2



3в653400 !!ртш1: ь/- Бшттл 60000 1 20000 2

30125100 €*ррр}'я Ргц2, Бтптп 8000 40000 5

30125100 €-грр['р дгц2 Бтцтл 1 0000 40000 4

301921 13 €*грр}р чпг!тшт{пр дсцд Бтптл 1 5000 1 50000 10

301921 13 €ш:ррр}т2 ш|: дсц2 Бтлтл 9500 1 52000 16

30237460 [-}тпЁц!тш2тшр дсц2 Бтптл 4000 20000 д

з02з7410 шцььц Ёсц2 }ттптп 3000 1 8000 о

з242з0о0 3тш!9тш3}:! Рш2ьь) дсц2 }:тпъп 8000 32000 4

30200000 [тшртл\п9 ш:[|штшф. ш[. штпрр[:1: дгц2 Бтшъп 1 0000 20000 2

30124300 $птлпрт[рпг\ дгц2 Бтшш: ] 500 1 5000 10

30124300 бпт:прт[рпг|1 гсц2 Бц:тп 3500 1225оо 35

30125000 [-|тпррпг1 4тш[тш\ дсц2 Бтштп 3000 9000

30125000 9тпртштпрп[Ё т{тп1 Ргц2 Бтп'гл 2500 50000 2о

3о23722о шцъьчь тптш\4}:р!Бр дгц2 Бтп:.п 1 000 1 0000 10

30125000 1}тшч!}тш}т ч1шъ дгц2 Бш:тп 4000 40000 10

301231 ; 0 $п1-т|,р,фп2}:10 1 0 /1! ч дгц2 Бтцтл 1 0000 200000 ,^

301231}0 5п[Бр,фп2}т дсц2 Бтштп 4500 225оо 6

301 25000 [тшч.ш:ч}:ф рБрт1п6тшч. ггц2 Бтцъп 1 з500 27ооо 2

32421000 3тш1т9шт3 }:1-т т1тпрг|ш дсц2 Бштл 250 1 5000 60

301231 10 5п!Бр,фп2}т1005/80чр дсц2 Бтпъп 1 500 60000 4о

301231 10 5п[Ёр,фп2}т дсц2 Бтцтп 3000 1 5000 5

3023з132 9п2тп ш\тшъ|тпп:п\ ггц2 }ттптл 35000 35000 1

30237000 [131 }:тпт{.шшРР ь о6.[3пгрБр всц2 Бтштп

Бц:тп

1750о 525000 30

3913в1 10 [1рпп всц2 11500 920000 80

3913в130 [1рпп тп2 }штпшттп!ртп1 }:1: дсц2 Бтшъп 50000 300000 6

39120000 3пг9ш:ъптшР**\ Бтш3 тптшртшр. рсц2, Бтлтп 8000 160000 20

3913в120 [1рпп фтш3тп3шт Ёсцд Бт-т-ттл 20000 400000 2о

391 3831 0 Ёш:ч\тпрпп Ёгц2. Бтцтп 40000 400000 10

391 з83з0 Ртпч \ штрпп ц [! тпт] тшр}: всц2 Бшттп 200000 200000 1

39151200 1/ Ёц тш1: ш2 }штптптп1:рш:1 }:1т Ёсц2 Бтцтп 58000 580000 10

39134100 01чтп! }:тшт[тш\тшрч|1п] г'ь дсц2 }:.тлтл 37000 370000 10

39121000 9ртшшБ1тп1-т 1 штпгт[ртш!]т рсц2 Бтштп 42ооо 680000 17

39121 100 9р'тпш[цтш1: Рсц2 Бтштп 50000 500000 10

391 10000 [['штш[пг1. !штптпртп1-т 2тп[ц. Рсц2 Бтцшт 245о0 980000 40

391 10000 [бшш:1-тпг1тп\тп1т [штптшртш1-т 1тш; 1: гсц2 }:тптл 248оо 992000 4о

391 10000 |1 }'штш[пцтш\ш:1-т шБг1тш1: 2тпЁц всц2 }:тцъп 30000 900000 30

39132100 !тшБштртш1: рсц2 }ттцтп 1 00000 1 000000 10

39 132 100 9ртшчтпБтпртп1: дсц2 Бтптп 1 23000 984000 8

39120000 11т|р|тп1: дсц2 Бтптл 30000 1 20000 ,
+



3 ] 600000 0 тлрр Бр, шштрртшт.] прпьт11тБ р (, /- Бтцтл +Р1п1[ 6000000 20

39713.130 Фп2[66}т2!Бр с/- Бтдтп 8000о 8о000 1

397 1 5200 9 Ёръ[тш: }:[ т]тлртшчпг3 р ггц2 Бтптл 450000 450000 1

11123220 11штп}с(ъш1: рсц2 Бтштп ] 80000 1 80000 1

3в291 000 !тшч[рш:;|тъ >*ф1-'> $сц2. }:тцтп 55000 55000 1

395 ] 5-+00 6|,ртптпт]тшРц1чп[]Р дсц2 р.ъ| 100 350000 100

-14510000 $прБ}р!Бр рсц2 Бц:шт 50000 50000 1

3 1 600000 |1.штшррБ,р Ёсц2 1тш:тл 50000 1 00000 2

[['шпгт[!ъш\тш[ Бтш}шшБр

з9162200 Фпр&тш[3пгрБр Ёгц2 Бтцтл 17о0 25500 15

з916220о !тштпртшш1лп|Р Бтшт] тпръш6пг ргц2 Бтптп 7500 1 5000 2

33 1 40000 1Бцпртш3р дг112 т}Р1п11 ] 50000 2оо

33123100 $п!пт1[тпр дсц2 Бтшъп 11500 46000 4

374 1 1 000 '{тпчрпгц}: дсц2 Бтлтл 1 20000 1 20000 ]

373 1 2500 0пг1}:1 дсц2 Бтцтл 1 000 5000 5

1 в523000 '{шт3р\ш!ш8пф дсц2 Бц:ш; 5000 25000 д

37400000 [ъ6тш2тпф дсц2 [тштп 125о0 25000 5

4292з2о0 \2Б,пр дсц2 Бтпш; 6000 1 2000 2

37400000 0тп!тп}тт|[тпр Ёсц2 Бтпшт 2оо 3000 15

37400000 1]тшрчшт\п2]т\ ргц2 Бтштп 20000 400000 2о

37400000 ч}'*р}, дсц2 1ттцтп 3000 60000 20

374517о0 $!цтп\ фпгтпрп1}т Рсц2 Бтлтл 1 5000 ] 50000 10

37452200 9!цтш\ ртшш\Бтпрп1}: дгц2 Бтштл 1 0000 1 00000 10

37452900 $[4тш\ ъ]п1|1рп1}-т дсц2 Бтптп '10000
1 00000 10

37400000 с}'*!1' р0ц2 Бтптл 4000 80000 2о

37400000 6[о:-[тлс ягц2 ъппгф 2500 1 05000 42

323424\2 Ётшр&рш:}шпш Рсц2 Бтлтл 21000 21000 1

1в412000 [1чпртпшт3 }т1: Бтшт[тпччБшш: всц2 }ттцтп 1 5000 600000 4о

37420000 $тшрт[!тпт[ш1Рчп1Р] 1-11[ штшрр[р гсц; Бтптп 400000 800000 2

з7440о00 б}ттп1тЁш|: штшррБр рсц2 Бцтш; 24оо0о 960000 4

з9162200 @ш:}ш'гл; Рсц2 Бтлтл 40000 24оо00 6

39162200 6}:рт[тл Ргц2 Бтпшт 55000 1 1 0000 2

3916220о ч*}"}.> ргц2 }:тптп 1 0000 20000 2

39|6220о 1}пъцш:ё Рсц2 Бтшъл 20000 40000 2

39162200 шь }штпь}т\. ъ[[рш. штшрр дсц2 Бтлтл 5000 з0000 6

39162200 91тп[ттшртшр& ргц2 Бтлтл 3500 42оо0 12

39162200 шрр|т2ъьр Рг|Рь9 дсц2 }тш:тп ] 600 240о0 15

3916220о |.-)шг|ш!![р рц.Рп9
|-.!щпрш. шщрш1;р!.:Бр [.г шшррБр

дсц2 Бтпш: 2ооо 30000 15

37400000 дгц2 цРш{ 1 000000 30



222111оо ! ш: 2тпп!тш:\тл[ тлт^|штлчр Ёр рсц; +Р1ц1| 2000000 10

221 ] 1000 [ьшпь9пцтш\шт! чррБр Рсц2 цРш{ 1 000000 10

12900000 5чтпчршт!тш! Бш:}:шБр гсц2 +Р1ц11 1686000 100

22900000 @пцр 11тшт],{ъшщтптп дгц2 !ч 900 27оооо з00
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